CAN YOU DECODE THIS MESSAGE?
NGBOTM HKKT GXUATJ YOTIK ZNK YKIUTJ IKTZAXE GHXGIGJGHXG OY
VKXNGVY UTK UL ZNK URJKYZ GTJ SUYZ XKIUMTOFKJ SGMOIGR CUXJY.
02 CGY AYKJ 2U CGXJ ULL SOYLUXZATK, NGXS$ UX ORRTKYY OT ZNK
RGZK YODZKKT NATJXKJY.

SILVERSTONE'S CHALLENGE

The Amazing Silverstone once set up a magical challenge for his apprentice.
He gave his apprentice five colored orbs - purple, blue, orange, green, yellow - to
arrange in o specific pattern. Each orb possessed unique magic, and it was up to the
apprentice to determine the correct order to unlock the hidden powers within.
Silverstone's clues for the order were as follows:
I. The blue orb must be placed directly to the left of the yellow orb. CAN YOU UNSCRAMBLE
2. The purple orb cannot be placed next to the orange, green or yellow orbs. THESE WORDS & PHRASES?
3. The orange orb must be placed to the right of the green orb. MALZKAAA
Y. The yellow orb cannot be placed directly at the Far left or Far right of the order. RCABRADAAEBA
Can you solve the challenge that Silverstone once created for his apprentice? HUsG CAOCPS u
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NPEG AMEESS
IMS ASLA IBM
ASISNTTSA
EORMGRII
OESKM DNA SRIRORM
TNSLUGISLII
TILHGES FO DANH
DCRAS

wn
<
-

FAMOUS MAGICIANS

Words can be found in any direction
and can overlap each other. Use the
word bank below.
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1. DOUG HENNING

2. PENN AND TELLER

3. HOWARD THURSTON
Y. JEFF MCBRIDE

S. DAI VERNON

6. SHIN Lim
1.0YNAMO

8. HARRY HOUDINI

9. ALEXANDER HERRMANN
10. DAVID BLAINE

1. SIEGFRIEDAND ROY
I2. CRISS ANGEL

13. LANCE BURTON

14. JURN TAMARIZ

IS. HARRY BLACKSTONE
16. DAVID COPPERFIELD
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